I S I ] [ £ [ Z [ T

1/1 Pl T 70 9TNIUNGNEBE9/§9—Z3—/L D PEIY  "v'd'3 PEDIY
g :nay GT-60-6T0C  :2jeQ | vy 3215 -
jeujwdzupid pieysys yblkdos (3) NOOPIdNS 9L m ano T am_uo -8
YoS™HO0TA2NS 21ld EEY (AZ'L e Bujuiem) m TEEB“ uuwmzm ._msom - w
/ 13234s e NP £ ) 1 _
o A6 404 J0yuoly abejjop Z 1RUIWIA} YIYMS JR3)) [+
= QN2 T \RUIWIA) Y2)IMS JBAYY — 4
= 2 (3o01un) waaib q37 - ¢
= (10413 “Ayianoe gsn) pas Q31 - ¢
S ISAH 5 NI (1amod) amg q37 - T
o 438 QNI 90€J181U| 43S — GI
w —_
v D S ¢
g11n0 S N9 aNo - Z
3 paxdojun uaym (AG+) YbiH — T
AI0uN = Hr
ane ! aNo - 2
pa1da1ap 2d1a3p papoddns uaym (AG+) ybiH - T
No0T-4o1S papoddng — ¢r
: aaA
gsn — &r
* - Jjamod — 7
aNo = T
K 13Mod — Tf
N[~
@LV m 5$10323uu0)
INy
3 a9
w AN
5g NN §0XT07UU0D
B rg—dns
TANPOW Z2ANPOK
(129] ——1 0a{0'x¥) (195°67) SV (7 —— 00 SV gz
——— Ta(T'X1) (VaS'8T) #V e ——— 10 0 7
—— ¢a (2) (L1) ev ros —— ¢a &V gz
— £0(S'Wmd) (91) 2V 55— — &0 Al n+s
——— va(n) (8T) TV gz —— 70 W7
—5—1 50 (5'WMd) (17) 0¥ (77— e oY g7
71 90 (9'WAd) —— 90
g 02 NIA 57— —g L0 NIA 7
aN9 Fe5— N9 57—
aN9 % aN9 %
N 8a(8) AG A —— 80 AG &7
aN9 571 60 (6'WAd) CAS (7 —571 60 SN T
AV —T OSMoﬁzzmv\ ) —1 010
* = TTa(TTISON/WMd) 1353 =5 —= 10
) ) cainpop —< 1 zra(zvosi) 1301 o —< 210 1353 17y
N - = I 7] £70(£7°08) ON g7 —7] €3¢ =
O _o—e ? ra b o W g
TMS v MT 440 4] T ano - anNo HOXTOTUU0?
o a i NO T g7 | 433V g7 | 434V 385N
N9 » ON9 e i
S lave I ano o= aesn
9 1NOA = NIA 17 — 7V (81'VaS) +078sn >
¢ Llinon 7wl —g7] GV (677129) aNsTasn Tt
N
2 ONNTONINQYY A731HS SN ONINAYY
7T N9 N N9 Z0XT0_uue)
FT1LN0A NIA |57 M
Tr
NIA
5 6
SSA adA NG+




